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Question Number : 1 Question Id : 8751961 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
India’s first supercomputer was called:
Options:

, w Aryabhata

> % Trishul
- % Agni
4 « Param

Question Number : 1 Question Id : 8751961 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 2 Question Id : 8751962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What does UNIVAC mean in computer terminology?

Options:
1« Universal automatic computer

- % Universal array computer
- % Unique automatic computer

4 % Unique automatic vacuum tube computer

Question Number : 2 Question Id : 8751962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 3 Question Id : 8751963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who invented differential engine?

Options:
1 % AdaLovelace

- « Charles Babbage
5 » George Bool

4 % Herman Hollerith

Question Number : 3 Question Id : 8751963 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 4 Question Id : 8751964 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which device facilitates the communication between the main components of a computer?

Options:
1 « Buses

- # Consecutives
= % Connectors
4 % Transistors

Question Number : 4 Question Id : 8751964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 8751965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In computer parlance, a byte is a group of:

Options:
1 #% 200 bits

> % 1024 bits
= % 40 bits
4 « 8 Dbits

Question Number : 5 Question Id : 8751965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 6 Question Id : 8751966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
One gigabyte of computer memory is equal to:

Options:
. 1024 megabytes

1
» % 1024 kilobytes
s u 1024 terabyte
4 % 1024 bytes

Question Number : 6 Question Id : 8751966 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 7 Question Id : 8751967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following coordinates operations using timing signals?

Options:
1+« Control unit

> % Memory unit
=z % I/O unit
4 % ALU

Question Number : 7 Question Id : 8751967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 8 Question Id : 8751968 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ALU stands for:

Options:

, % Armray Logic Unit

5 o Arithmetic Logic Unit
= » Application Logic Unit

4 % Alternative Logic Unit

Question Number : 8 Question Id : 8751968 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 9 Question Id : 8751969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which one of the following is not a solid-state storage?

Options:
1 #% USB driver
> % SSD

- % Flash memory card

i v DVD

Question Number : 9 Question Id : 8751969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 10 Question Id : 87519610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
One important characteristic of RAM is that it holds only:

Options:
, % Ssequential storage

- u direct storage
-  Volatile storage

4 % non-volatile storage

Question Number : 10 Question Id : 87519610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 11 Question Id : 87519611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is processed by Central Processing Unit?
Options:

1 % Information

- « Data

- % Hard disk

4 % Programs

Question Number : 11 Question Id : 87519611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 12 Question Id : 87519612 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The third generation computers were based on:

Options:
1 % vacuum tube
> % transistors

5 o iDtegrated circuit

4 ® magnetic drum

Question Number : 12 Question Id : 87519612 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 13 Question Id : 87519613 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one of the following is an input and also an output device?
Options:

1 % Monitor

o

> # Printer
3 « Modem
4 % OCR

G

Question Number : 13 Question Id : 87519613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 14 Question Id : 87519614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
DWVD is an example of:

Options:
1 % Hard disk

> % Output device
-  Optical disk

4 % Solid-state storage device

Question Number : 14 Question Id : 87519614 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 15 Question Id : 87519615 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following input devices converts sound into a form that can be processed by
the system unit?

Options:
1 « Audio

> % Digitizer
=z % Plotter
4 ® Webcam

Question Number : 15 Question Id : 87519615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 16 Question Id : 87519616 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is an Operating System?
Options:

1 % Fire Fox

Alta Vista

o

2
3 % Yahoo

4 « Linux

Question Number : 16 Question Id : 87519616 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 17 Question Id : 87519617 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which operating system reacts in the actual time?
Options:

; w Quick response system

- % Batch system

-  Real time system

4 % Multi-tasking system

Question Number : 17 Question Id : 87519617 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 18 Question Id : 87519618 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is Shell in the UNIX operating system?

Options:
| % Hardware component

-  Command interpreter
- » Part of computer

4 % Toolin CPU scheduling

Question Number : 18 Question Id : 87519618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 19 Question Id : 87519619 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one of the following alternatives is applied after installing a new program or after
making changes in configuration?

Options:
1 % Shut down

> % Sleep
= « Restart
4 #% Hibernate

Question Number : 19 Question Id : 87519619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 20 Question Id : 87519620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Process management, storage management. 'O lllﬂllagEIHEllT and secm‘i‘ry are some of the

features of:

Options:

, w Spreadsheet program

- % Data processing program
= % DBrowser

4  Operating system

Question Number : 20 Question Id : 87519620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Question Number : 21 Question Id : 87519621 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which one of the following is a single user operating system?

Options:

1 ® UNIX

> % Linux

3z « MS DOS
4 % XENIX

Question Number : 21 Question Id : 87519621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, % FOAFH (XENIX)

Question Number : 22 Question Id : 87519622 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is not a part of the Office Suite you are familiar with?

Options:
1 # Database

> w Spreadsheet
-  File Manager

4 % Word Processor

Question Number : 22 Question Id : 87519622 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 87519623 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
From which menu one can insert Header and Footer into an MS Word document?

Options:

1 % Format
> % Tools
= o« Insert

4 % View

Question Number : 23 Question Id : 87519623 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 24 Question Id : 87519624 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the collection of characters and paragraph formatting commands called?

Options:
1 # Defaults

> o Style
= % Tools

4 w Templates

Question Number : 24 Question Id : 87519624 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 25 Question Id : 87519625 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which indent marker in MS Word controls all the lines except the first line?
Options:

, % Topindent marker

> « Left indent marker

- » Hanging indent marker

4, = Right indent marker

Question Number : 25 Question Id : 87519625 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 26 Question Id : 87519626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which one of the following is not a Hindi text processors?
Options:

, w Lipikar

> « Screen Craft
- % Hindi Pad

4 % ILeap



Question Number : 26 Question Id : 87519626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 27 Question Id : 87519627 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which one is a shortcut to open the Open dialogue box in MS Word?

Options:
, % F12

Shift+F12
z ® Alt+F12
4 « CtltF12

®

2.

o

Question Number : 27 Question Id : 87519627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, % F12
- % Shift+F12
2 % Alt+F12

., v Ctrl+F12

Question Number : 28 Question Id : 87519628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which tag is used to deploy a picture on a web page?
Options:

, w Dpicture

> % image

5 o I

4 %® SIC

Question Number : 28 Question Id : 87519628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 29 Question Id : 87519629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The purpose of primary key in a database (MS Access) is to:

Options:
1 % unlock the database

- % provide a map of the data
3 o uniquely identify a record

4 = establish consistency in database operations

Question Number : 29 Question Id : 87519629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 30 Question Id : 87519630 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The maximum length of a text field in MS Access can be:

Options:
;% 120

5 o 285
3 % 265
4 ® 75

Question Number : 30 Question Id : 87519630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 % 120
> o 255
z ® 265
4 % 75

Question Number : 31 Question Id : 87519631 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which one is not a database object?

Options:

1 % Table

5w Query

-  Relationship

4 % Report

Question Number : 31 Question Id : 87519631 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 32 Question Id : 87519632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The part of a database that stores only one type of data is:

Options:
, = report
> o Teld

- % query

4 % record

Question Number : 32 Question Id : 87519632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 87519633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
On spreadsheet MS Excel. the active cell is known by a(n):

Options:
1 # Dotted border

> « Dark wide border
- % Blinking border
4 % Text inside is in italics

Question Number : 33 Question Id : 87519633 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 34 Question Id : 87519634 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following can MS Excel produce?
Options:
, w Line graph and Pie chart

~ % Only Line graph
-  Bar chart, Line chart and Pie chart

4 % Bar chart and Pie chart

Question Number : 34 Question Id : 87519634 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 35 Question Id : 87519635 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If an Excel file is inserted into a Word document. data is:

Options:
, % hyperlinked

5 of placed in word table

3 # linked

4 % embedded

Question Number : 35 Question Id : 87519635 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 36 Question Id : 87519636 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which button is to be chosen to create an Excel chart out of selected cells?

Options:
1 v F11

o R F7
4 B F3

Question Number : 36 Question Id : 87519636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 37 Question Id : 87519637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Special effects to introduce slides in a PowerPoint (PPT) presentation are known as:

Options:
1 % Effects

®

% Custom Animation
« Transitions

% Annotation

e

Question Number : 37 Question Id : 87519637 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 38 Question Id : 87519638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which key is pressed to check spelling in PPT presentation?

Options:
1 ® E3

o B S5
= o F7
EE Fo

Question Number : 38 Question Id : 87519638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 39 Question Id : 87519639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
When using a Mac. how can you replace a font with another on all slides?

Options:
1 % Tools = Fonts

- % Edit = Fonts
= o Format = Replace Fonts

4 % Tools>Replace Fonts

Question Number : 39 Question Id : 87519639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 40 Question Id : 87519640 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who provides the Internet to its users?

Options:
1 & TCP

> % FTP
3 « ISP
4 % HTTP

Question Number : 40 Question Id : 87519640 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:




, = TCP
> % FTP
5 v ISP
4, % HTTP

Question Number : 41 Question Id : 87519641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What is the minimum bandwidth required for a broadband connection?

Options:

, % 128 kbps

> % 12 kbps

5 o 256 kbps

4 # 2048 kbps

Question Number : 41 Question Id : 87519641 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T 1543 Felaeld & [0 HETF qAdH 5195y FT g7

Options:

, = 128 kbps
> % 912 kbps
5 256 kbps
4 » 2048 kbps

Question Number : 42 Question Id : 87519642 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A node that shares resources with other nodes is called:
Options:

1 & Server

-~ % Host
= % Client
4 # Data bus

Question Number : 42 Question Id : 87519642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

TF Al FT 3T ASH F 1T T &7 997 FI4aT 2, 33 gl AT
gl

Options:




1.»’@1—
> x B
g_wm
4 ® 3TT 9

Question Number : 43 Question Id : 87519643 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is not a Web Browser?

Options:
1 # Fire Fox

> % Internet Explorer
5 % Google Chrome

4 « Alta Vista

Question Number : 43 Question Id : 87519643 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TafofeaT # 9 #i9 a1 v+ 39 91331 787 82

Options:

| % BT B

, x SEIHE TFFAIR
. x T A

4 v ¥eer @

Question Number : 44 Question Id : 87519644 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is FTP program used for?

Options:

1 + Transfer files to and fro an Internet server

-~ % Design website
- % Connect to the Internet
4 % Serve asa Fast Traveling Protocol

Question Number : 44 Question Id : 87519644 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

THEIST 9remH fohEes T 39reT foRar T 272

Options:
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Question Number : 45 Question Id : 87519645 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Verification of log in name and password before one opens the e-mail box is called:
Options:

, w Configuration

> « Authentication

5 % DBooting

4 w Accessibility

Question Number : 45 Question Id : 87519645 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e -39 9190 FT Wea ¥ g AP AT 3R 9THES FT Jearaa
FeaTar gl

Options:

| % FlePHIRAA
> v HTAfER
C\E

z # oo

4_%?@%%

Question Number : 46 Question Id : 87519646 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is HTML?

Options:

, = Itisascripting language.

- % Itis amodeling language.
5 % Itisa DTP language.

4  tisused for structuring documents for the Internet.

Question Number : 46 Question Id : 87519646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



HTML =T 7
Options:

|« U TEFTCET AT g
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Question Number : 47 Question Id : 87519647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one is not a domain name extension?
Options:

1 % .mil

o o -Ag

3 % .com

4 ® -OIZ

Question Number : 47 Question Id : 87519647 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

SAH U HITdr 38T F 17 FT TFHeT Jar 87

Options:

5 & -iMg
z # .com

4 % -Org

Question Number : 48 Question Id : 87519648 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Web cookies are small pieces of data that are:

Options:
1 « sent from a website and stored in the user’s browser

> % sent from the user and stored in the server
= % sent from the root server to all other servers
4 » Helpful in generating dynamic web pages during subsequent use

Question Number : 48 Question Id : 87519648 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

éﬁgﬁ??ﬂ#ﬂ%mmﬁa‘r



Options:
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Question Number : 49 Question Id : 87519649 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who owns the Internet?
Options:

, w Infernet Engineering Task Force

o R DNS
2 « No one owns the Internet

4 % International Internet Board

Question Number : 49 Question Id : 87519649 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

SITACT FT Alfored i g7
Options:

z_ﬁm
. v 3T & AfAF F2 7 2l
, « HAUSET T A18

Question Number : 50 Question Id : 87519650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When sender and receiver are on the same system. we need only:

Options:
1 ® IP
> % Domain
= % Servers

4 User agents

Question Number : 50 Question Id : 87519650 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 51 Question Id : 87519651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What type of virus uses computer host to replicate itself?

Options:
1 % Time bomb

- % Mallissa virus
= o Worm
4 % Macro virus

Question Number : 51 Question Id : 87519651 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
foFa 99N & IIRT FY g F 3T TT FH 8 F o0 A 87

Options:

4 SRR s
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5 v aH

4 8 el IR

Question Number : 52 Question Id : 87519652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Malicious software is known as:
Options:

1 « Malware

> % Maliciousware

5 # lllegalware

4 % Badware

Question Number : 52 Question Id : 87519652 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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READING COMPREEHERNSION

Section Id : 8751962
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 1
Number of Questions to be attempted: 1
Section Marks: 5
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 8751962
Question Shuffling Allowed : Yes

Question Id : 87519653 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Juestion Label - Comprehension



Read the following passage carefully and answer the questions that follow:

*“Why don’t you say this to the people who come to you for help and
advice?” I asked my father. He put his hands on my shoulders and looked
straight into my eyes. For quite some time he said nothing. as if he was
judging my capacity to comprehend his words. Then he answered in a low.
deep voice. His answer filled me with a strange energy and enthusiasm:
Whenever human beings find themselves alone, as a natural reaction,
they start looking for company. Whenever they are in trouble. they look
for someone to help them. Whenever they reach an impasse. they look

to someone to show them the way out. Every recurrent anguish. longing.
and desire finds its own special helper. For the people who come to me
in distress, I am but a go-between in their effort to propitiate demonic
forces with prayers and offerings. This is not a correct approach at all
and should never be followed. One must understand the difference
between a fear-ridden vision of destiny and the vision that enables us to
seek the enemy of fulfilment within ourselves.

I have throughout my life tried to emulate my father in my own world
of science and technology. I have endeavoured to understand the
fundamental truths revealed to me by my father. and feel convinced that
there exists a divine power that can lift one up from confusion. misery.
melancholy and failure. and guide one to one’s true place. And once an
individual severs his emotional and physical bondage. he is on the road
to freedom. happiness and peace of mind.

Sub questions

Question Number : 53 Question Id : 87519654 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To whom did people come for help and advice?

Options:
1 % Author
> % Author's Uncle

= « Author's Father

4 # Author's Nephew

Question Number : 54 Question Id : 87519655 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

According to the passage. whenever people are alone:
Options:
, % they start playing cricket

- u they start reading

5  they start looking for company

4 % they start playing music



Question Number : 55 Question Id : 87519656 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

According to the passage. whenever people are in trouble:
Options:

, % they call the police

> u they freak out

- o they seek someone to help them

4 = they play music

Question Number : 56 Question Id : 87519657 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When is a man said to be on the way to freedom and peace?
Options:

, « When he gets free from all bondages

- » Whenever he gets involved in trouble
- % When he reaches an impasse

4 % When he seeks the enemy of fulfilment

Question Number : 57 Question Id : 87519658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

According to passage, how many types of bondages are there?
Options:

1 ® 1

I

o o
3_-%33
4 % 4

Question Id : 87519653 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cesticn Label | Comprehension
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Sub questions

Question Number : 53 Question Id : 87519654 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

9T HeE UF e & for FEe 9w e O
Options:
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. v EE & R
4 % OIS F FAST



Question Number : 54 Question Id : 87519655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ST F AR, a7 ST el 21T &

Options:
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Question Number : 55 Question Id : 87519656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TEATY & HJAR, T o AT FHEd H & 8
Options:
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Question Number : 56 Question Id : 87519657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

o TBaf™ & Far 37 TFar 2, F THUET AR & 99 9T 27

Options:
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Question Number : 57 Question Id : 87519658 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT & HAAR, TS Tohcdel TR & &t 872

Options:

1.3-’31
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CUANTITATIVE AFPTITULE

Section Id : 8751963
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 8751963
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 87519659 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find the value of (0.25%) x (0.25 ).
Options:

. % 025

2 1

= % 0

4 % 0.50

Question Number : 58 Question Id : 87519659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

(0.25% x (0.257%) = "7 7 HiFT
Options:

, % 0.25

2 1

z % 0

. % 0.50

Question Number : 59 Question Id : 87519660 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If 2™ = 256 then find the value of 2 /23
Options:
; ® 512



5 ® 256
2 % 128
4. 32

Question Number : 59 Question Id : 87519660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ofg 2 = 256 gr ar 27/2° #1 #1979 =T

Options:

i D
, % 256
- % 128
4 ¢ 32

Question Number : 60 Question Id : 87519661 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which term i1s the 1st negative term in the AP: 102, 97.92....7

Options:
1 v 22
>~ % 23
= % 24
4 ® 25

Question Number : 60 Question Id : 87519661 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

FiT T 9g GHAGT AT &7 9gam HUMcHF 9 & 102, 97, 92 .7
Options:

1. ¢ 22
> % 23
z % 24
4 % 25

Question Number : 61 Question Id : 87519662 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the value of ¢ if one of the roots is double of the another: ¢x2-18x+8=07?

Options:
1 ® 3

o B 6
3¢ 9
EE 10



Question Number : 61 Question Id : 87519662 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

c & AT AT FHAC, I FHAFIOT: cx*-18x+8=0 F Tk HeT UL FM &1 T[T
g7

Options:

1 % 3
> % B
3¢ 9
4 % 10

Question Number : 62 Question Id : 87519663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The areas of two similar right angled triangles are in the ratio 36 : 9. The ratio of their

corresponding sides will be:
Options:

1% 3:6

> % 4:3

o 6:3

% 936

Question Number : 62 Question Id : 87519663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ar THET HASIOT XA & STBA! T AT 36 O F| FeThr HIAA NI F

I FAT FEM?

Options:
1 8 3:6
> % 413
2« 6 :3
4 % 9 : 36

Question Number : 63 Question Id : 87519664 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Pranav is standing in front of a street-lamp of height 15m at a distance of 10m. His image
is formed upto 15m from the lamp. What is the height of Pranav (in m)?

Options:
1 ® 2

o B 10

3_&37
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Question Number : 63 Question Id : 87519664 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

yora 15 HeT FT FaI5 I T Fie o T & TFA 10 HeX # gl | T7 £
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Options:

1 ® 2

oo® 1 O

z #® ?

4.4 O

GEMERAL MEMTAL ABILITY AND REEASONING

Section Id : 8751964
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 8751964
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 87519665 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
3,47, 11, 18 29 7

Options:
1 ® 37
~ % 33
3. ¢ 47
4 ® 44

Question Number : 64 Question Id : 87519665 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
3.4, 7. %1, 18,29, 7

Options:



1 = 37
- % 33
z ¢ 47
4 % 44

Question Number : 65 Question Id : 87519666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

If HOSPITAL is written as 32574618 in a certain Code, how would be POSTAL written in
that code?

Options:

; ® 752618

Question Number : 65 Question Id : 87519666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T 9T FIT 7 3T HOSPITAL & 32574618 R@r «lar g, 3@ &= &
POSTAL & & for@r Freem?

Options:

, % 752618
., = 725108
-« 725618
. % 725681

Question Number : 66 Question Id : 87519667 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In a classroom, there are 5 rows & 5 children. A, B. C. D & E are seated one behind the
other in 5 separate rows as follows: A is sitting behind C. but in front of B. C 1is sitting
behind E. D is sitting in front of E. The order in which they are sitting from the first row to
the last is:
Options:

1 « DECAB

- % ABCDE
- % BACED
4 % ABEDC

Question Number : 66 Question Id : 87519667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

, «» DECAB

, = ABCDE

. % BACED

. # ABEDC

Question Number : 67 Question Id : 87519668 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Pick the odd one out.
Options:

1« T-145

5 % 5-85

= # 6-108

4 % 4-48

Question Number : 67 Question Id : 87519668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
HEA 9¢ F I
Options:

| ¢ 7-145

., % 5-85

- % 6-108

4 % 4-48

Question Number : 68 Question Id : 87519669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A bus leaves Delhi with half the number of women as men. At Meerut. ten men get down
& five women get in. Now there are equal number of men & women. How many
passengers boarded the bus initially?
Options:
1 ® 30
o> ® 35
3 % 15

1
4.5-"‘—15



Question Number : 68 Question Id : 87519669 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
v a6 et ¥ femerar & eR Afgonst Hr v qeu @ = | el 2
G H 10 T 36/ 710 vF 5 ARGAC I¢ T 3T 9§ H THEAS F&T H
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Options:

1 & 30

> % 3D

z % 15

4 ¢ 45

Question Number : 69 Question Id : 87519670 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Study the following graph carefully to answer the below question.

No. of students in College A and College B over the vears

_. %0
€ 80
g 70 |
50 | - - n
& = College A
ﬂ W T ' ' = College B
E 30 | — - - -
e 20
:2 10 L | . LI - | .
& |

2003 2004 2005 2006 2007 2008

Years

What is the average number of students in College A for all the years together?

Options:
. % 45.000

5 & 50.000
5 ® 52.000
4 # 48.000

Question Number : 69 Question Id : 87519670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
, % 45,000
, « 50,000
. =« 52,000
, = 48,000
GEMERAL AWARENESS
Section Id : 8751965
Section Number : 5
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 8751965
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 87519671 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which Online Portal was launched for promoting interests of small traders?

Options:



1 % e-tarazu
> % e-pathshala
5 % e-baniya

4 « e-lala

Question Number : 70 Question Id : 87519671 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Bic @aar & feat & Faue & v #ia @ siaesa 9ew o F GRar
AqT?

Options:
1 ® é- o

L % S-OTSeTET

Question Number : 71 Question Id : 87519672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Bhuvan. an initiative of ISRO is:

Options:
1 % Mars Orbiter Mission

o  Satellite Mapping Tool

- » Indigenously Built Telescope

4 % Missile Defence System
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Who is known as Modern Maharishi Ved Vyas?
Options:

1 +« Shiv Brat Lal

> % Harishankar Parsai

5 % Om Vyas

4 # Shiv Batalvi
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Which of the following is not a Gold Scheme launched by Prune Minister Narendra Modi
on November 5, 20127

Options:
1 # Gold Monetisation Scheme

» % Gold Sovereign Bond Scheme

5 « Swadhar Scheme

4 # Gold Bullion Scheme
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India will build the multi-task Kamov-226 Helicopters with which country?

Options:
1 % Uzbekistan

> « Russia
= % France
4 % Austrailia
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Barak-8 Missile was successfully test fired from which Indian Warship?
Options:

1 « INS Kolkata

> # INS Vikramaditya

= % INS Viraat

4 % INS Kochi
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Question Number : 76 Question Id : 87519677 Question Type: TYPING TEST Display Question Number : Yes

Should the government defer fiscal consolidation further or stick to its schedule and compress the fiscal deficit
to 3.5 percent of GDF in the forthcoming Budget. Even the framing of the question in this manner makes
assurnptions that do not hold in the economy at present. Fiscal consolidation' comes across as a virtue,
because its absence is normally associated with macroeconormic irmbalance. But the current conditions are not
normal. The world economy is in torpor. India's internal investiment story is not even sound and fury, if you
leave aside some e-cormrmerce firms. Credit grows at a snail's pace. Spare capacity exists in most Consumer
goods sectors, obwviating investment. Infrastructure investment is hostage to debt-crippled firms. The state
sector has to act to boost investrnent. That is the basic macroeconomic imperative. Why is a fiscal deficit not
desirable in normal tirmnes? Because it makes a dermand on private Sector savings that cormpetes with the
private sector's own dermand to finance its investrment, leading to excess demand that spills over as inflation
and a wider current accournt deficit. In a situation in which the private sector's own investment demand is
tepid to cold, there is little danger of public borrowings competing with private borrowings for the same
quantum of private savings. On the other hand, if state sector investment generates rew dernand, it could
crowd in fresh private investment to meet that demand. In other words, a fiscal deficit that boosts investment
at a tirme when the private sector is chary of investing is a virtus, not a sin. This is not to say that the
government should not try harder to cut back on wasteful subsidies, by employing direct benefit transfer
wherever possible, or to raise additional resources by widening the tax base and adrinistering taxes better,
MNor should any effort be spared to get additional chunks of surplus global savings into the National
Infrastructure Investment Fund that would invest in India's infrastructure. India cannot allow rating agencies
to dictate its policy priorities that is all. Rising inequality is potentially damaging for society. Policies aimed at
reducing inequalities, particularly of the structural kind that transmit inequality across generations, are called
for. Howeesver, there are two redeeming features to the process of growth that has produced such inequality.
Those amassing wealth in the developed world are also voluntarily spending fortunes on philanthropy in areas
once considered the domain exclusively of governments, such as healthcare and primary education.
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